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1/11~—=>

&S FR el BE#(GEL) KR FAEH (£2) AR S
31191 |504% Bt ERT HY (BETIEARW) 5A7H - NBE
31192 [10f% Legc IR HY (BETEAEW) 5811H - L
31193 |104% Bt B RREREN HY (BETIEARW) 5810H - L
31194 [30f% S KT HY (BETEAEW) 5812H HY Eyan=|
31195 [|204% Bt ERT HY (BETIEARW) 5810H »HY (Bi5T12) E=zan=|
31196 [301% Bk ER™ HY (EIETIEAEW) 5810H »HY =ft8
31197 |204% Bt EIRT HY (BETIEARW) 5811H - L
31198 [|204% S B RREATEN FERER 58130 »Y) #L
31199 [804% Bt B RRERREN HY (BETIEARW) 5810H ) BEZ
31200 [80f% peq L BRREMEN HY (BETIEARWL) 5811H HY AL
31201 |104% peq L B RRERREN HY (BETIEARW) 58130 HY L
31202 |10 (&t BRREREN HY (BETEAEW) 5813H HY) 5L
31203 |204% peq L EIRT HY (BETIEARW) 58121 ) E=vad=|
31204 |10 (&4 BRREREN HY (BETEAEW) 5813H HY) L
31205 |204% Bk EIRT HY (BETIEARW) 5810H ) BEZ
31206 [|204% S BRREMEN HY (BETIEARL) 5813 - E=vad—|
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= FR R BE#(GEL) KR FAEH (£2) AR S
31207 |40f% peq L SRR AT HY (BETEARL) 5811H - E=van=|
31208 |20#% peq L B RREATEN FERER 5A13H HY E=vad—|
31209 |204% Bt B RRERRTE N HY (BETIEARW) 5810H ) E=vad=|
31210 [10f% S SR ET HY (BETEAEW) 5813H - L
31211 |10m%skid |BiE e L) HY (BETERWL) 5A11H HY AL
31212 |10mk |BiE BRREREN HY (BETEAEW) 5810H HY (HF - REMEK1L26) %L
31213 |10m%skid |BiE KD ET HY (BETHEARL) 58121 HY (BB - RBEMER126) L
31214 |60f% Legc BRREREN HY (BETEAEW) 5813H - L
31215 |204% Bt B RRERREN HY (BETIEARW) 58130 - E=van=|
31216 |60f% S BRREREN HY (BETEAEW) 5A9H HY BEX
31217 |10mkid &M B RRERREN HY (BETEARW) 5A5H HY (BB - REMERI2) L
31218 [20f% Legc BRREREN HY (BETEAEW) 5812H HY (HF - REMEKL24) BilzN: 9=
31219 |604% Bt ERT HY (BETEARW) 58130 - L
31220 |10mF |BiE BEH HY (BETEAEW) 5813H HY) L
31221 |10meskid &M B5H HY (BETEARWL) 5A14H »HY AL
31222 |30k Legc BRREREN HY (BETEAEW) 58 13H - E=yan=|
31223 |104% Bt SR REREN HY (BETIEARW) 58130 - L
31224 [30f% S BRREREN HY (BETEAEW) 5A9H - BEX
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5 ER | R BB R FEAEH (22) HERAE B
31225 [20f% S BRREFTEN HY (BETEAEW) 5H13H - BEX
31226 [30% Legc BRREREN HY (BETEAEW) 5812H - SilzN:g=]
31227 |30f% S BRREFTEN HY (BETIEEW) 5H12H HY) BEX
31228 |10mF |BiE BRREREN HY (BETEAEW) 58128 HY) 5L
31229 |204% Bt ERT HY (BETIEARW) 5810H HY (Bi512) E=zan=|
31230 [304% peq L R HY (BETIEARWL) 5811H - E=vad—|
31231 [|204% peq L ERT HY (BETIEARW) 5810H HY (BiHT5) E=zan=|
31232 |10mF (& KT HY (BETEAEW) 5811H HY (HF - REMEK1L26) %L
31233 |10f% pegis BRREFTEN HY (BETIEEW) 5A11H - 7L
31234 |30f% Eogi BREEFTERN HY (BETEAEW) 58128 HY (BIHT5) 248
31235 [|304% Bt ERT HY (BETEARW) 5811H HY (BiHT5) E=van=|
31236 |10f% ik BRREREN HY (EETIEAEW) 5H13H - %L
31237 [20f% S BRREFTEN HY (BETIEAW) 5A11H - N3]
31238 |10#% peq L SK R AT HY (BEETIEARW) 5813H - i L
31239 |204% Bt KD ET HY (BETIEARW) 58130 ) Eilzy=3=}
31240 [30f% S BRREREN HY (BETEAEW) 5812H - E=yan=|
31241 |30f% pegis EFHE HY (BETIEEWL) 5A11H HY (B - REMERL24) SifzNi9=]
31242 [50f% i bk HY (BETEAEW) 58128 HY) A
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= FR R BE#(GEL) KR FAEH (£2) AR S
31243 |604% geqi3 S|l HY (BETEARL) 5A9H - #L
31244 [10f% Legc t&E™ HY (BETEAEW) 5811H - L
31245 |104% Bt Em HY (BETHEARWL) 58121 - L
31246 |50f% S t&E™ HY (BETEAEW) 5811H - E=yan=|
31247 |10mkiE (B Em HY (BETHEARWL) 5811H HY L
31248 |10mkis |1k bk HY (BETEAEW) 5A8H - L
31249 |504% peqi3 Em HY (BETHEARL) 5811H - E=van=|
31250 |504% Bk 5[ l=ns) HY (BETIEARWL) 58128 - BE¥
31251 |104% peqi3 Em HY (BETHEARL) 5811H HY L
31252 |50f% St bk HY (BETEAEW) 5811H HY Eyan=1|
31253  [|304% Bt Em HY (BETHEARL) 5A9H ) E=vad=|
31254 [10f% S t&E™ HY (BETEAEW) 58128 - 5L
31255 |204% peq L AR AT E N HY (BETEARW) 5A12H ) NS
31256  |204% Bk 5[ l=ns) HY (BETIEARWL) 5A11H HY SHE
31257 |10mkid &M AR AT E N HY (BETIEARW) 58121 HY L
31258 |30#% peq AR EATE N HY (BETIEARWL) 5A9H HY EN S
31259 |704% Bt AR AT E N HY (BETIEARW) 5811H - L
31260 |40f% Bk 5[ l=ns) HY (BETIEARWL) 58128 - BE¥
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5 e/ | 1l BEEHCED R 5 B (32) HE R B
31261 [501% Eegca el ) HY (EFETIEHRL) 5812H &HY) SilZNiA=]
31262 [50% Legc HEMREEFTE W HY (BETEAEW) 5812H HY Eyan=|
31263 |504% Bt Em HY (BETIEARW) 5811H ) E=vad=|
31264 [10f% B =l HY (BETEAEW) 5811H HY) 5L
31265 |10mskid (&M F( =i HY (BETIEARW) 58121 - L
31266 |504% geqc3 5[ l=ns) HY (BETIEARWL) 5810H &) NR— k&< —
31267 |604% Bt Em HY (BETIEARW) 58130 ) E=vad=|
31268 |504% geqc3 5[ l=ns) HY (BETIEARWL) 5810H ) AL
31269 |104% Bt F( =i HY (BETIEARW) 58121 - L
31270 [40f% Eegc HEMREEFTE W HY (BETEAEW) 5812H HY BEx
31271 |104% Bt F( =i HY (BETEARW) 5811H - L
31272 |10mkis | bk HY (BETEAEW) 5A9H HY 3L
31273 |104% Bt Em HY (BETEARW) 58121 Hl) (ZBE—VEH?25) L
31274 |10f% B bk HY (BETEAEW) 58128 HY) L
31275 |10mskid &M Em HY (BETIEARW) 58130 HY L
31276 |10f% B = | laly o} HY (BETEAEW) 5813H HY (RR—YEE25) L
31277 |604% Bt F( =i HY (BETIEARW) 58121 - NR— b & A <—
31278 |70f% S t&E™ HY (BETEAEW) 58108 HY) L
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= FR R BE#(GEL) KR FAEH (£2) AR S
31279 |10mkid (B S|l HY (BETEARL) 58121 - i L
31280 |10pskis (B AR EATE W HY (BETIEARWL) 5811H - AL
31281 |104% Bt AR AT E N HY (BETIEARW) 58121 Hl) (ZBE—VEH25) L
31282 [30f% Legc HEMREEFTE W HY (BETEAEW) 5810H HY Eyan=|
31283 |204% Bt Em HY (BETHEARWL) 58121 - E=van=|
31284 [10f% 7 bk HY (BETEAEW) 58128 - L
31285 |104% Bt AR AT E N HY (BETIEARW) 58121 - L
31286 |40f% Bk 5[ l=ns) HY (BETIEARWL) 5A10H - £it8
31287 [|40f% peq L F( =i HY (BETIEARW) 58130 ) Eilzy=3=}
31288 |40%% peq L ft&m HY (BETIEARWL) 58128 - E=vad—|
31289 [804% peqi3 Em HY (BETHEARL) 5A8H ) L
31290 104 peq L fe&m HY (BETIEARWL) 5812H HY AL
31291 |504% Bt AR AT E N FERER 58130 Y ilzN=3=}
31292 [10f% Eegc t&E™ HY (BETEAEW) 58128 HY) L
31293 [|40f% Bt Em HY (BETHEARL) 5811H HY (F#%134) SHE
31294 |30f% 7 bk HY (BETEAEW) 5811H HY Eyan=|
31295 |104% Bt AR AT E N HY (BETIEARW) 5811H HY L
31296 |304% geqc3 5[ l=ns) HY (BETIEARWL) 5813H - AL
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= FR R BE#(GEL) KR FAEH (£2) AR S
31297 |304% Bt AR AT E N HY (BETIEARW) 5A7H - NBE
31298 |101% B jttm HY (EFETIERL) 58134 o) 7wl
31299 |10m%kid |BiE AR AT E N HY (BETIEARW) 58121 - L
31300 |504% peq L feEm HY (BETIEARWL) 5A7AH - TR Ak
31301 |504% Bt F( =i HY (BETIEARW) 5810H ) E=vad=|
31302 |204% S AR EATE N HY (BETIEARWL) 5A9H HY Eevan=|
31303 [40f% peq L AR AT E N HY (BETIEARW) 5811H ) E=vad=|
31304 |70%% Bk 5[ l=ns) HY (BETIEARWL) 58128 - BE¥
31305 |504% Bt AR AT E N HY (BETIEARW) 58130 - E=van=|
31306 [80f% peq L BN REEFTE N HY (BETIEARWL) 5810H ) AL
31307 [804% peq L B3 HY (BETHEARL) 58130 HY L
31308 |504% S B HY (BETIEARWL) 5813 HY Eevan=|
31309 |90LAE (B B3 HY (BETHEARWL) 58130 HY L
31310 |10#% peq L B HY (BETIEARWL) 58128 - £Ht8
31311 |10m%skid |BiE B3 HY (BETHEARL) 58130 HY L
31312 [20f% Legc BN HY (BETEAEW) 5812H - E=yan=|
31313 |10m%skid |BiE ENRERTE N HY (BETHEAWL) 58121 HY L
31314 |50k Eegc BN HY (BETEAEW) 58128 HY) A
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= FR R BE#(GEL) KR FAEH (£2) AR S
31315 |204% peq L ENRERTE X HY (BETEARL) 5811H ) E=vad=|
31316 |40%% peq L B HY (BETIEARWL) 5813 HY EilzN:ds]
31317 |504% Bt ENREFTE X HY (BETHEARWL) 5A9H - ELN S
31318 401 peq L B HY (BETIEARWL) 5A10H HY Eevan=|
31319 |704% Bt B3 FERER 58148 Y E=vad=|
31320 |604% S B HY (BETIEARWL) 5A10H HY HEZ¥
31321 |604% Bt ENRERTE X HY (BETHEARL) 5A8H ) BEZ
31322 [10f% Legc & /7 I ET HY (BETEAEW) 58128 - L
31323 |604% Bt B3 HY (BETHEARL) 5A9H - E=van=|
31324 [20f% S BINREEFTEA HY (BETEAEW) 5810H - Eyan=|
31325 |604% peq L B3 HY (BETHEARL) 5811H ) E=vad=|
31326 |10#% S B HY (BETIEARWL) 58130 - AL
31327 |10mkid &M B3 HY (BETHEARWL) 58130 HY L
31328 |10%% S BN REFTE N HY (BETIEARWL) 5814H HY AL
31329 |10m%kid |BiE ENRERTE N HY (BETHEARL) 58121 HY L
31330 [|40%% peq B HY (BETIEARWL) 58130 ) AL
31331 [40f% peq L —BgmH HY (BETIEARW) 5811H ) E=vad=|
31332 |10k (&M —Bm HY (BETIEARWL) 5811H HY AL
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= FR R BE#(GEL) KR FAEH (£2) AR S
31333 [304% Bt —Bm FERER 5A9H - NBE
31334 |504% S —Bm HY (BETIEARWL) 5813 - SHE
31335 [|304% Bt —BgmH HY (BETIEARW) 58121 ) SHE
31336 |10k |BH —Bm HY (BETIEARWL) 5811H HY AL
31337 [201% pegis —Bgm HY (EFETIEHRL) 5A13H &HY) N 3=
31338 |10#% S —Bm HY (BETIEARWL) 5811H HY AL
31339 |404% Bt —BgmH HY (BETIEARW) 58130 ) E=vad=|
31340 |10 (&M —BEMREFTE N HY (BETIEARWL) 5812H - AL
31341 408 peq L KA HY (BETIEARW) 58121 ) ELIN S
31342 [30f% Eegc K™ HY (BETEAEW) 5812H HY BilzN: 9=
31343 |204% peq L KA HY (BETEARW) 58130 - E=van=|
31344 |10m K (B K™ HY (BETEAEW) 5813H HY) L
31345 |10mkid (&M KA HY (BETEARW) 58130 HY L
31346 |104% S ZRRBIEN HY (BETIEARWL) 5813H ) AL
31347 |204% Bt ZRREFTEN HY (BETIEARW) 58121 ) E=vad=|
31348 |10m%kid |BiE ZRRBIIEN HY (BETIEARWL) 5A14H HY (F#K137) L
31349 |104% peq L ZRREFTEN HY (BETIEARW) 58130 HY (F#K137) L
31350 |10mEskid (B ZRRBIEN HY (BETIEARWL) 5A13H HY (F#K137) L
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=l FHK TR BE#CED FER FAEH(E2) it E EEES
31351 |60f% pegis BHREEA HY (BETEAEW) 5H12H HY) BEX
31352 [10#% geqc3 EHREREN HY (BETIEARW) 5813H ) B L
31353 |10f% pegis BHREFEA HY (BETIEEW) 5A7H HY) =ft8
31354 |80k St B (ARRBETEN) HY (BETEAEW) 5811H HY (SEHEMER35) 3L
31355 [80f% pegis ARREFTEA IR 5A10H HY (& MER35) 5L
31356  |[80f% ik ARREFTEN SEREIR 5810H HY (S eE%35) %L
31357 |90 E |&tE AN IR 5A10H HY (& MER35) 5L
31358 |90m AL |&tE LA SEREIR 5810H HY (S EE%35) %L
31359 |[80f% S ARREFTEAN IR 5A10H HY (& MER35) 5L
31360 |80f% Bk ARREFTERN SEREIR 5810H HY (Sl EE%35) %L
31361 |60f% pegis ARREFTEAN IR 5A10H HY (& MER35) 5L
31362 |90m AL |&tE ARREFTERN SEREIR 5810H HY (EinEMEE%35) %L
31363 |[80f% pegis ARREEA HY (BETIEEW) 5H10H HY (EEnEMEEZ35) 5L
31364 |70f% ik ARREFTERN SEREIR 5810H HY (Sl Ea%35) %L
31365 |90mMAE |2 ARRBEEA HY (BETIEEWL) 5H12H HY (EEnEMEEZ35) 5L
31366 [80f% geqc3 AEET HY (BEETIEARW) 5811H HY (SEpEHEH35) B L
31367 |80f% S B (ARRBEFIEN) IR 5H10H HY (EknEMEEZ35) 5L
31368 |90m AL |&tE ARIREFTEN HY (EIETIEAEW) 5810H HY (EinEMEE%35) %L

- 10 -



11/11~—=%

5 ER | R BB R FEAEH (22) HERAE B
31369 |10mkim |BME ARREFTEA HY (BETEAEW) 5H12H HY 5L
31370 |10#% Bk AFRBEFTE N HY (BETIEARW) 58130 ) B L
31371 |204% peqi3 AT HY (BETIEARW) 5811H - L
31372 [30f% Legc ARREFTERN HY (BETEAEW) 5813H HY) A
31373 |40f% pegis ARREFTEA HY (BETIEEW) 5H13H HY (EEnEMEEZ35) SifzNig=]
31374  [40f% Eegc ARREFTEN HY (BETEAEW) 5812H HY (SiHEMER35) SifzNiEd=]
31375 |30f% S ARREFTEA HY (BETIEAEW) 5H13H HY (EEnEMEEZ35) SifzNig=]
31376 [40f% Bk AFRBEFTE N HY (BEETIEARW) 5811H ) N 3=
31377 |204% Bt —FmW HY (BEETIEAW) 581201 - =H 8
31378 |504% geqc3 ZFREFREN HY (BEETIEAW) 5A12H ») SilzNa=}
31379 |40% peqi3 —FmW HY (BETIEARLW) 58148 Y HE¥
31380 |10mkid %=k —F FAEIR 5813H HY (F#%138) L
31381 |l10mki |ZtE —Fm EESNEVN 5H13H HlY (F®K138) 7L
31382 |10mkiE %=k —F FAEIR 5813H HY (F1138) L
31383 |10mesi %t —FmM HY (EETIEAW) 58148 Y Bl
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